< tardop! -}nyero&urc and  Pressere
At STP what is the pressure? 1 =20 ATmospheres

What does STP stand for?

At STP what is the temperature? 0° cels u S
Suppose 8.61 g of zinc was allowed to react with 8.61 liters of HCI gas to produce
zine chlonde and hydrogen gas.

_ What is the balanced equation?
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Whlch reactant is hmJt 2 (Show both calculations. )
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¢. Using the limiting reactant. solve for how many liters of hydrogen gas will
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5. De%fmine the volume in liters of carbon dfoxide that should be produced in the
reaction between 100. g of carbon and 100. liters of 02. (Use the same three ;
steps as in the previous problem above).

Hoon Co»\m

C &Y —= 10, - Hne €O, From
"h‘mc Cesit
(J /5'2 les (&,\M ‘cm‘ﬁj )
o | e/ | ek g
ke (|z olem)(ﬂTﬁ‘)z S
‘ robe . 4.46 A?” ZZVL ~%L
|00 O, <_/—-1- | ,Z:)lu> = roles | Uil 12}
134 ~e L 7
| oy
i Anser: 999 eters
Ch e zz qw C A4.9 [Aere



KEY

6. Suppose 2.00 L of nitrogen gas and 5.00 L of hvdrogen gas are mixed and reacted
to form ammonia (NHj). Calculate the volume in liters ¢f ammonia produced
when this reaction runs to completion. A& W n y

St bl i = BN st

| Ng + 2H, > 2N“3
L :
Step2: 2.0078 l“,t:‘ . 2“::.‘43 12nes\ 14 o0 ddfing

gauemd |

™ol msl |7
ey TR S EE AR
mo wo l— W

f:‘“i: s LuY)2 =338 58

.w;‘i ' 224 o "““ f‘;lo m‘ e
g ’"%&4

(oo 3 nswel”
‘a* 2#9' 5"@’5 We sat o ol ceady omied %
s\‘epz i s*pz The 5 , "oF Nty 9as

wh Y we weAr ud’o )by .A;H of % ,},.,[(5
7. Uranium (III) sulfide can react with fluorine to form uranium hexafluoride gas
and Sg. Write a balanced reaction and then find how many liters at STP of UF6
will form if you have 333.3 grams uranium (III) sulfide and 0.9 liters fluorine.
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Warmup Slip

Directions: Turn the following into balanced equations by filling in the blanks with the
correct coefficients, formulas of ions or solids, and names. 1

Cation Anion Formula Name '

A __Cut +__ 5042

B.__ P2+t +_ _ CF e
Crmesery o~ - AlCIg
DR - Mg(NO3)3
E. + - iron (I11) sulfide
F + - copper (IT) nitrate




Warmup Slip
Directions: Turn the following into balanced equations by filling in the blanks with the
correct coefficients, formulas of ions or solids, and names.

Cation Anion Formula Name

A 2 Cut + SO42 - C\’q SO(.f CoPPQF(?) SU\FG&Q
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G. _l_Cu2+ + 2‘_0}1- = Cu a%)z_ er{lghqo(l‘opo(é

Copy this formula. In the second box rearrange the

formula to isolate moles . In the third box rearrange to
isolate volume:

moles
volume

molarity =
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Units:

@ mL for all things

Compute the number of moles needed to make

@ a 900 mL solution that has a concentration of 1.40M .
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Moles = 1,20 wmoles
Compute the molarity of 40.6 g of Al3(NO3) dissolved in

@ enough water to make 400 mL of solution.
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